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12F2H —  |EkER TAF AR AR KBCEE =2 BASES 6.8 24 L5 24 821
12F3H = |eckeR IR NIl SR ¥ Cldvb 6.1 2 L5 2.8 819
12H4H = |BkER EABHEE HEMEAE FERFEE ¥ S EFES 6.1 24 13 24 834
12H5H g | ERER wASEDE aR-2 Ik SefEfes ¥ BT EE 55 6.3 22 1.4 23 821
12H6H PR =P G i e AT A =2 A 6.1 22 1.4 3 827
12H9H —  |BkER JCHIEEA R G & IR LA =2 TR IS 6.7 23 1 2.8 836
12510H = |eckeR EEsE e dzidiil Tt 2R B R ¥ VISV R 6.5 2.0 12 2.8 835
12H11H = |BkER THERFERE SEERFEN FHE IS ¥ TEEKEE 6.5 23 13 27 850
12H12H g | ERER A BRI U3 =2 RO HES 6.1 23 15 23 824
12H13H PR =P AT EEIRE R THIVEHA BHER =2 BRIRES 6.4 23 13 26 837
12H16H —  |BEkER HREEEE A B B+ RS ¥ ik FOREE 6.4 2 1.4 3 823
12H17H = |EkER HRREIE A BRI AE FEHRIND =2 SRS 6.2 23 12 2.8 819
12H18H = |BkER TS HEE AR WhER(T-#Rfrds ¥ &k EQQIENS 6.8 25 13 29 823
12H19H g | ERER R S e ORI =MHHE ¥ HRERES 6.3 2.1 13 2.6 848
12H20H PR =P IR AT HEREE e ¥ TR IS 6.3 24 1.6 25 834
12H23H —  |BkER FESRAEAR EEHRERT Pl B#eE ¥ IS 6.5 23 1.4 25 829
125241 = |eckeR EERRAERAE FERAISA JugitazsE A % 3% 6.4 23 1.4 29 819
12H25H = | REEDH PR AR SoEE THEEHRE A GRS 6.1 2.1 1 2.8 833
12H26H uo | ERER TBEESESE GLail=N B =E3 ToRES 6.7 2 12 24 843
12H27H PR =P =MEET EAOEERERER SIS A fETRIG S 6.5 25 13 24 845
12H30H —  |EkER ERTEER =EmEIE TR A SEEENS 6.0 22 1.4 3 818
12H31H = |eokeR FAZERRDE AT AESE g RE A (EANE 6.1 22 1 2.8 838
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